Social Security Number _____________________


1. (2 pts.) Which of the following basal ganglia structures contains dopamine releasing neurons?


a. the STN

b. the LGP


c. the MGP


d. the SNR







e. the SNC

2. (2 pts.) According to lecture, which of the following cerebellar areas is most involved in the actual execution of motor movements (as opposed to the planning of motor movements)?


a. deep cerebellar nuclei

b. spinocerebellum


c. vestibulocerebellum


d. cerebellar cortex








e. neocerebellum
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3. (2 pts) In the picture to the right, what cerebellar structure is represented by line A (the central area on the diagram): 


a. deep cerebellar nuclei

b. spinocerebellum


c. vestibulocerebellum


d. cerebellar cortex








e. neocerebellum

4. (2 pts) Which of the following hypothalamic structures has been implicated in female sexual receptive behaviors?


a. dorsomedial hypothalamus


b. medial preoptic area


c. lateral hypothalamus


d. ventromedial hypothalamus


e. suprachiasmatic nucleus

5. (2 pt) According to lecture, one prevailing theory of why estrogen replacement therapy improves memory performance in post-menopausal women is that the therapy corrects abnormalities with which of the following neurotransmitters:


a. dopamine


b. GABA


c. serotonin


d. norepinephrine


e. acetylcholine

6. (2 pt) Which of the following basal ganglia structures is NOT a part of the indirect pathway: 


a. dorsal striatal GABA/SP neurons


b. the STN


c. the SNR


d. the LGP


e. the MGP

7. (2 pts) Nystagmus is most associated with damage to which of the following cerebellar areas: 


a. deep cerebellar nuclei

b. spinocerebellum


c. vestibulocerebellum


d. cerebellar cortex








e. neocerebellum

8. (2 pts) __________________ is the hypothalamic structure implicated in maternal behaviors as lesions to this area lead to a mother rat push her babies off to the side and generally neglect the normal care given to the offspring.


a. dorsomedial hypothalamus


b. medial preoptic area


c. lateral hypothalamus


d. ventromedial hypothalamus


e. suprachiasmatic nucleus

9. (2 pts) Which of the following disorders is (are) caused by a genetic defect with the 5-alpha reductase 2 enzyme?


a. hermaphroditism


b. delayed penis development


c. intersexualism


d. androgen insensitivity


e. more than one of the above are caused by this defect

10. (2 pts) Huntington’s Disease is caused by damage to which of the following basal ganglia structures?


a. the STN

b. the MGP


c. the LGP


d. the SNC







e. none of the above

11. (2 pt) True or False: The hemispheric asymmetry hypothesis to explain gender differences in cognitive performance is supported by the fact that women show greater right hemisphere dominance compared to men while performing dichotic listening tasks.  

12. (2 pts) True or False: Hypermetria is associated with damage to the neocerebellum, but not damage to the spinocerebellum.

13. (2 pts.) True or False: Polygamous male voles have larger hippocampuses than monogamous male voles, supporting ecological theories of gender differences in learning and memory.

14. (2 pts) True or False: According to your textbook, the supplementary motor area is more involved in internally-guided movements while the premotor area is more involved in externally guided movements.

15. (2 pts) True or False: Lori has been diagnosed with one of the two types of apraxia discussed in your textbook. Lori’s is the more severe of the two types of apraxia and she no longer understands how to use common items. For example, she often uses her cell phone to remove lint from her clothing. This type of apraxia is called ideational apraxia.

16. (2pts.) True or False: GABA/Enkephalin neurons exert an inhibitory effect on the SNR and MGP.

(Fill-in: 2 pts.) ______________________________ is the hypothalamic area(s) in humans where Simon Levay found both size differences between heterosexual men and heterosexual women and homosexual men and heterosexual men.

(Fill-in: 2 pts.) List TWO abnormalities that appear during puberty in patients with androgen insensitivity. 


A.


B.

(Fill-in: 2 pts.) ______________________________ is the full name of the STN and ______________________________ is the full name of the SNR.

(6 pts) List four symptoms of Parkinson’s Disease and use the video clips watched in class to give concrete examples of these symptoms. 

(6 pts.) What is ballistic dyskinesia and how does it differ from choreas? Damage to what area causes ballistic dyskinesia? Using the diagram presented in lecture, explain step-by-step what happens when this area is damaged (i.e. how it leads to ballistic dyskinesia). Note: You don’t have to recreate the whole diagram! Just go over the parts relevant to ballistic dyskinesia).

(3 pts.) List THREE of the FIVE current guidelines supported by the majority of doctors today regarding the treatment of intersex patients. Discuss how each of the three guidelines was either followed or violated in the Colapinto “As Nature Made Him” reading (i.e. the Dr. Money reading). 

(3 pts.) What is the theory presented in lecture to explain why people (other than Stephanie) have trouble rubbing their stomachs while patting their heads and drawing two visuospatially-incompatible figures with the right and left hand. Give one piece of evidence to support supports your answer.

(6 pts.) How can androgen insensitivity patients support the idea that gender differences in cognitive performance are due to hormonal differences between men and women? (In your answer you should also discuss what the gender differences in cognitive performance are.) Give two additional pieces of information to support the hypothesis that sex hormones are involved cognitive performance.

